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Td = 20 DESIGN TIME, C = 0.35, I = 5.68 IN/HR, A = 38.92+0.65(CEMETARY)=39.57 ACRES Td = 20 DESIGN TIME, C = 0.35, I = 6.61 IN/HR, A = 38.92+0.65(CEMETARY)=39.57 ACRES Td = 20 DESIGN TIME, C = 0.35, I = 7.42 IN/HR, A = 38.92+0.65(CEMETARY)=39.57 ACRES Td = 20 DESIGN TIME, C = 0.35, I = 8.30 IN/HR, A = 38.92+0.65 (CEMETARY)=39.57 ACRES ~
=
é % Q = C*I*A = 0.35 * 5.68 * 39.57 = 78.66 CFS Q = C*I*A = 0.35 * 6.61 * 39.57 = 91.54 CFS Q = C*[*A = 0.35 * 7.42 * 39.57 = 102.76 CFS Q = C*I*A = 0.35 * 8.30 * 39.57 = 114.95 CFS %Em
~oQ
N N
= i Q = C**A = 0.50 * 7.19 * 0.31 = 1.11 CFS (AREA 55) Q = C*I*A = 0.50 * 8.22 * 0.31 = 1.27 (AREA 55) Q = C*I*A = 0.50 * 9.01 * 0.31 = 1.39 CFS (AREA 55) Q = C*I*A = 0.50 * 9.80 * 0.31 = 1.54 CFS (AREA 55) %%552
E = SERSy
Z. Q = = 79.77 CFS Q = = 92.81 CFS Q = = 104.15 CFS Q = = 116.49 CFS §<L§g
AC Ei’@“ | M
— O SN
i)\I ~
\12&%‘@
SRS
WS99
ST
%Q\{@i
g QX =Q
@) INFLOW = AREA 49 + LINE ”C” + LINE ”’D” INFLOW = AREA 49 + LINE ”C” + LINE ”D” INFLOW = AREA 49 + LINE ”C” + LINE ”’D” INFLOW = AREA 49 + LINE ”C” + LINE ”’D”
—_ = cfs + cfs + cfs = cfs + cfs + cfs = cfs + cfs + cfs = 2.45cfs + 43.59cfs + 45.80cfs . %
C = 67.38cfs = C*[*A = 0.50 * 7.19 * 18.74 = 77.03cfs = C*[*A = 0.50 * 8.22 * 18.74 = 84.44cfs = C*[*A = 0.50 * 9.01 * 18.74 = 91.84cfs = C*[*A = 0.50 * 9.8 * 18.74 O % O
Z. < 2 S
] =
All 2|z ¢
= n 2|5
= e | I
> L
DIRECT DISCHARGE = AREA 1,14,16,25,32,39,46 + LINE ”"A” + LINE "B~ DIRECT DISCHARGE = AREA 1,14,16,25,32,39,46 + LINE "A” + LINE "B” DIRECT DISCHARGE = AREA 1,14,16,25,32,39,46 + LINE "A” + LINE "B” DIRECT DISCHARGE = AREA 1, 14, 16, 25, 32, 39, 46, 48 + LINE "A” + LINE "B” i =3 ) 2
= = + + = + + = + + = 6.42, 5.63, 3.97, 6.66, 7.11, 2.35, 4.85, 7.06 + 19.75 + 34.00 ) = fn &
g = + + = cfs = + + = cfs = + + = cfs - E =
[z, = 97.80cfs n el
0p) S8 =
= = g g e
— OUTFLOW FROM POND = PRESENT CONDITION - DIRECT DISCHARGES OUTFLOW FROM POND = PRESENT CONDITION — DIRECT DISCHARGES OUTFLOW FROM POND = PRESENT CONDITION — DIRECT DISCHARGES OUTFLOW FROM POND = PRESENT CONDITION — DIRECT DISCHARGES = 3
) = o
= 1279 CFS = C * I * A = 0.35 * 5.68 * 6.43 = 1488 CFS = C * I * A = 0.35 * 6.61 * 6.43 = 16.71 CFS = C * I * A = 0.35 * 742 * 6.43 = 116.49 - 97.80 = Hlo ©
~~ = 1869 CFS = C *I1 * A = 0.35 * 8.3 * 6.43 %%OF
™ . —
H S
- =
@-——‘ g g
Storage Time Intensity Discharge Inflow Outflow Storage Time Intensity Discharge Inflow Outflow Storage Time Intensity Discharge Inflow Outflow Storage > Ao
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